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Ubertragungsfunktion und Eingangswiderstand

N S R,
H(jw)=—=1- . . .
a; R +R;+C+jw+R+Ry+C+jw-R,*R;+C-jw-Ry+ R4

a11 _ Rl+R3+C'jW'R1'R2+C'jW'R1'R3+C'jW'R2'R3
Ay Cejw-R+C+jw-Ry+1

Zy=

Beispiel

R,;:=10000 Ry=R, Ry=R, C:=100-10" w:=10..40000 f(w)i=—

Rl
" R +Ry+C-li-w+R,+R,+C+li+w-R,+Ry+C+1i-w-R,- R,

2.7

H(w)::l

9.5.107!
9.107"
8.5:107!
8.107"
7.5.107!
7.107
6.5.107"
6-107"
5.5:.107"

5.107

v

1 1-10 1-10% 1-10® 1-10*

2.10
1.8:10
1.6-10
1.4.10
1.2.10

1.10

arg(H(w)) (deg)

v

1 1-10 1-10% 1-10® 1-10*



